1.3 AP Practice Problems (pg. 116-117)

1. The graph of a function f is shown below. Where on
the open interval (-3, 5) is f discontinuous?
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5 If }Ln': f(x) =L, where L is a real number, which of the
following must be true?

(A) fisdefinedatx=c. (B) f iscontinuous atx=¢
© fE@=L. None of the above.
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| 8 Let £ be the function defined by
2 if x<0
JE if 0<x<l
JO=N2-x it 1<x<2
x-3 if xz2
For what numbers x is f NOT continuous?
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9. The function f is continuous on the closed interval [~2, 6].
If f(—2)=T and f(6) = ~1, then the Intermediate Value
Theorem guarantees that
(A) F(O)=0.

@f (¢) =2 for at least one number ¢ between —2 and 6.
(C) f{c)=0 for at least one number ¢ between —1 and 7.

(D) —1 < f(x) <7 for all numbers in the closed
interval [-2, 6].
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10. The function f is continuous on the closed interval [—2, 2].

Several values of the function f are given in the table below.
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11. The function f is defined by f(x) = { 245 ifx>1

(a) Is f continuous at x = 1? .
(b) Use the definition of continuity to explain your answer.

¥ S&f *Hwoujl\ éw‘k’ﬂuﬁi'] condliting

/Vaﬂnzmwﬂ,\ %HM{_,M
L 506 x= (77/

f:(‘x) 3 [c|2 /“9__ = =

The equation f(x) = 1 must have at least two solutions in the
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